Sa synger vi med

Violin 2

Tempo de Valse

n D

‘I I
e

—
4 4

e

= Hﬁﬁﬁﬂﬂ

—]
o &

—
o &

—
o

o ra—F
o @

y 4
.
€

v 4

2.

3

1.

e

)

#

|[2.

1.

Z
hoF

y 4L

#
rid

-

mfb

| fam)



82
0

Sa synger vi med

arco

132

=
—_

_:Il—_:ll

éhlhl e#g ehﬁﬁ eﬁ% &

==

ﬂ

140

|
P —

v

e e

v

AJZJA

arco

ved wig v

pizz.

148
() 4

y &

mf &

arco

pizz.




Violin 2

164
() »

172

oo

v

oo

oie

() «

pizz.

190
() »

arco

199

53

ill_ill

EaE

() &

r. g_qj

f

| IJJ. qd
of ®_°

A'qi—_‘q_iAﬁ?ﬁAII

207
() »

“#ﬁﬁ

™y
ANV
)

<

214

v

v v

7
&

() &

TP Y Sia @




